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5.

Presumption as to electronic 1 sed of five year old

is
(@) Presumption of Fact

(b) Presumption of Law

(€) Conclusive proof

(d) Presumption of Fact and Law

Which Section of the CPC prohibits arrest or
detention of woman in the execution of a decree of
money?

(a) Section 60 (b) Section 55

(c) Section 56 (d) Section 59

Who is given protection from arrest under Section
45 of the Code of Criminal Procedure, 1973?

(@) Members of armed forces

(b) Members of Parliament

(€) Judicial Officers
(d) President of India

Match list-l with list-ll and select the correct
answer using the code given below the lists —
List-
(A) Interpretation Clause
(B) When facts not otherwise relevant become
relevant
(C) Burden of Proof
(D) Relevancy of facts forming part of same
transaction
List—lI
(1) Section 6 Indian Evidence Act
(2) Section 105 Indian Evidence Act
(3) Section 11 Indian Evidence Act
(4) Section 3 Indian Evidence Act
Code -
(a) A4,8B3,C2,D1
(¢) A1,B-2,C3,D4

(b) A-2,B-3,C-4,D-1
(d) A-2,B-1,C3,D4

Which one of the following Section of the Indian
Evidence Act, 1872 is related wfth_the ‘Presumption

= itelch cyclld
1=l a4 Pl i]\'!'kli 1;""|(}f-'|] 19

Jugreon 8l &

(a) @2g @1 SUER

(b) fafey @) IUERI

(c) fAwgarsd [

(d) gea o fafd &1 SuHR

Rufaer ufepa el @l Fr @ GRT g9
Rell & Pares W Rl @) frgerd ar A
&7 foer el 87

(8) G737 60 (b) €17 55

(c) &N 56 (d) IRT 59

zug gfkar wfedr, 1973 N ORI 45 & 3l
fre ATl & e ver &l T &7

(a) TRl gl & S

(b) §EE & Haw

(c) =nfie s

(d) wed & wsguf

- B -1 q gafera Pifoie den gfaa
& 419 & ™ g | v I 31 g -
Gl

(A) Frd=m woe

(B) T T2 Wil SR GG &l &, Ha G
7

(C) |gd &T ¥R

(D) U & &< &1 =T 994 a1l qeat 3
ArE RS

-

(1) 9”1 6 9RAT Ty AWfHay

(2) ERT 105 9w TRy aififaay

(3) &R 11 ¥R Wrw iy

(4) )T 3R 9y IR

R

(@) A-4,8-3,c-2,D-1  (b) A-2,B-3,C-4,D-1

(c) A-1,B-2,C3,D-4 (d) A-2,8-1,C3,D4

AR e S, 1872?’:‘!*%%&

_1'-‘( P W aRT gl




6.

(¢) A4,83,C1,02

M Yo : _
atch list=1 with list=I| and select the correct 6.

answer using the code given below the lists -
List—|

(A) Fraudulent transfer

(B) Election when necessary

(C) Rule against perpetuity

(D) Conditional transfer
List—li

(1) Section 14 TPA

(2) Section 35 TPA

(3) Section 25 TPA

(4) Section 53 TPA

Code -

(a) A-1,B-2,C3,D-4

(c) A-4,8-2,C3,D-1

(b) A-2,B-4,C-1,D-3
(d) A-4,8-2,C-1,D-3
Match list-1 with list=ll and select the correct 7.
answer using the code given below the lists —
List-1
(A) Section 45 of the Indian Evidence Act
(B) Section 85 of the Indian Evidence Act
(C) Section 45A of the Indian Evidence Act
(D) Section 23 of the Indian Evidence Act
List—l
(1) Opinion of Examiner on Electronic Evidence
(2) Admission in Civil cases when relevant
(3) Presumption as to Power of Attorney
(4) Expert opinion
Code - ) )
@) A1,82C304 (b) AL B3CA D-2
(d) A-4,B-3,C2,D-1

owing case is related to the 8.

"‘1."“ | il '!i’J“ e 55]]"-1{.-5 PP

& 4 fre T e & TE I B e
- :

(A) UGl 3R

(B) fyater= wa raed® @

(C) eEEeEr B foe M

(D) HITA 3100
A

(1) TR 14 ey siRe SR

(2) SRT 35 |t arcer i

(3) o1 25 wafy SR SR

(4) TR 53 Wl aEwen s

a'é\_C' -5

(b) A-2,8-4,C-1,D-3

(d) A-4,B-2,C-1,D-3

(a) A-1,B-2,C-3,D4

(c) A-4,B-2,C-3,D-1

13T - ¥ g I = gfeai

% < Ry g g @ FE T @ A -
skl

(A) TRT 45 HIRAE I sRfFas

(B) ETRT 85 WIRGIG WEd arferaH

(C) TRT 45A WRTITY HEA e
(D) IIRT 23 WRAG HE arfafam

GGl
(1) SeaEifE Te @ TEd D1 I
(2) Rafaret werell # EhPpfrl B9 GETT 2 2
(3) GERAH B TR H SO
(4) fage=i @
EF,QE -
(a) A-1,B-2,C3,D-4 (b) A-1,B-3,C-4,D-2
(c) A-4,B-3,C-1,D-2 (d) A-4,B-3,C-2,D-1
frefofad # & SiFal I SAADdl D IR
o yfrem | wﬁuﬁ 0
(@) HepATes @1 aIg
(b) R, T Sl TS A
(©) . e faue
(d) R, & o

AR

v
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9. Consider the following activities & arrdng
into chronological ascending order as per reievar
sactions of the Indian Penal Code
I. Sedition
Il. House Tresspass
I1l. Communication made in good faith
V. Public Nuisance
Select the correct answer using the code given
below -
Code -
(@ m, 1w, n (b) IV, I, 1, I
(€) LV, 1,1 (d) 10,1, 1v
10. Assertion (A): Invitation to make tenders is not an 10.
offer
Reason (R): A tender in response to such invitation
is an offer.
Select the correct answer -
(a) (A)& (R) both are true but (R) is not the correct
explanation of (A)
(b) (A) & (R) both are true and (R) is correct
explanation of (A)
(c) (R)istrue but (A) is false
(d) (A)is true but (R) is false
11. If a witness, who is unable to speak, gives his 1.
evidence in writing in the open court, evidence so
given shall be deemed to be -
(a) oral evidence (b) secondary evidence
(c) documentary (d) primary evidence
evidence
12. Match list-I with list-Il and give correct answer by 12,

using the code given below the lists —
List=l
(A) Adjournment
(B) Execution of Decree and orders
(C) Plaint
(D) Affidavit
List-II
(1) Order 19 CPC
(2) Order 17 CPC
(3) Order 21 CPC
(4) Order 7 CPC
Code -
(a) A-4,B-2,C-3,D-1
(e) A-1,B-2,C-3,D4

(b) A-3,B-2,C-1,D-4
(d) A-2,B-3,C-4,D-1

mE—aflaTi™
T RN GRS

(V. olep BT (GRS N

A= [’V Y he g el I

&c : . o

@) i, 1, IV, Il (b) v, Il 11
(d) 1, Il I, IV

(¢) u,Iv, L1 _
e (A): Ffagg & @ Tefg S~

gvaTd T8l @ |
HROT (R): T AT & 19 ¥ fafder ©a
g&d ® |

el SR gAY —

(@) (A) T (R) QT W & afd (R), (A)
He) R T8l '

(b) (A) T (R) ST el & 3R (R), (A) DI HE]
T B

() (R) HU & UR (A) 3T B

(d) (A) FT & TR (R) A B

afe w1 TaE, ot 9o § eranef 8, fofad

w7 A o T el st A @ 2

f&3r T ey BT HET SRAT —

(a) wifew e (b) fEdias ey

G SR

-1 BT G-I ¥ gafera @iferg @ e
ﬁﬁﬁqu\aaﬁwﬁﬂﬁm\;ﬁ
T -

A

(A) RETH
(B) f33pT iR amew} &1 e
(C) aTEu=
(D) STTRIT

A
(1) AMCY 19 Ear wfbar wikar
(2) 3mewr 17 dar uftbar wiRar
(3) IT<TT 21 YA fshar wfRar
(4) T<T 7 Srar wfhar wiar
az\_c:_

(a) A-4J B'Z: C—3, D'1
(c) A-1,B-2,C-3,D-4

(b) A-3,B-2,C-1,D-4
(d) A-2,8-3,C-4,D-1
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13. Assertion (A): Custom to have the force of law may
not continuously be enjoyed.
Reason (R): Custom represents common
consciousness of people.

Select the correct answer -

(a) Both (A) and (R) true but (R) is not a correct
explanation of (A)

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(c) (A)is true but (R} is false

(d) (A) is false but (R) is true

14. \What was the theme of World Human Right Day
20212

(a) Let's standup for equality, justice and human
dignity
(b) Equality -Reducing inequalities,
advancing Human Rights
(€) Woman Right are Human Rights
(d) Recovers better -Standup for Human Rights
15. Who can request the International Court of Justice
to give advisory opinion on any legal question?
(8) The General Assembly of United Nations
(b) Any permanent member of the Security Council
(¢) The highest Court of Justice of any Nation

(d) Any member of United Nations
16. A Session Judge, under Section 9(2) of Cr.P.C. is
appointed by the =

(a) District Magistrate (b) State Government

(d) None of the above

13.

14.

15.

16.

17‘

aftveer (a); R @1 ac T @ forg gl @
P uffa Y1 HEATAD
8 2|
SO (R): W @il @l WA
afarfafereg @3 2 |
ae I Y - P
(a) (a) it (R) < @ E g (R) (A P el
ZqE A€ BN & _
(b) (a) 3R (R) @ W@ & AR (R), (A) @1 wel
R Hl B
(©) (a) T & fbeg (R) ST B
(d) (a)3reT & freg (R)TA B
forgq AFARIER R 2021 7 fawa @0 or?
(a) e, g 3R A Rk & fon @S
&l
(b) WAl — erEHEAaIl B &H B
[ 1 AT geTl
(c) HfRe RPN A IR _
(d}ﬁﬁﬂ?ﬁﬂ?ﬁﬁgﬂ:wﬁ— ARl
3 fog &S &
ol ffte T W SSad S i
g AR S & SR BIF HX dPpal
27
(a) W WS W DI TETTH
(b) e uRye @1 HIE A el e
(©) fr *f T @7 Wdied AT
(d) wgeH g HY B Bis W G
<vs yhear SRAT B GR 9(2) B TG TS
T &
(a) R ferHrY
(c) =g =

HaAl Pl

(b) I TWER

@) SRE § ¥ B
&

Frerferfe # & e ae e wpfa @1 87

(1) O A B PR | FHELA A< |

(z):ﬁgrmamiaﬁi%mﬁlﬁa%mam

(3) ¥ T a1 e @ g @ R
Eic|

(b) 1,330X 4
(d, 2,'33“-1_’ 4




18. The case of Tweddle vs. Atkinson is related with -
(a) Anticipatory Breach of Contract
(b) Impossibility of performance
(c) General offer

(d) Privity of Contract

19. Which one is the correct sequence from the
following as implied in the India Contract Act,
1872?

(A) Offer of proposal

(B) Contract

(C) Promise

(D) Agreement

(E) Acceptance

Select the correct answer -

(@) (D), (B), (C), (A), (E) (b) (C), (E), (A), (D), (B)
(©) (A), (E), (), (D), (B) (d) (B), (D), (C), (A), (E)

20. Disclosure of the identity of a rape victim is
punishable under the following Section of IPC,
1860 -

(a) Section 337 (b) Section 228
{c) Section 229 (d) Section 228A

21. Match list-| with list-ll and select the correct
answer using the code given below the lists —
(A) Anticipatory Bail
(B) Cognizance on complaint
(C) Language of Court
(D) Security of good behaviour from habitual

der ]

18.

19.

20.

21.

G | [ wrfaad

adrgel €= pafd=a @
(a) wifaar @ ydaIe®

(b) qret- a5 areadr ¥

Wiy ¥

(¢) QAT U ¥

(d) <ifrar A g

e <R s, 1872 @ SITHE e 3
A B @ P el HH E7

(A) WRTGAT @1 FRrd

() HfdaT

(C) @

(D) TR

() wdpfa
& SR BT T BIfIY —

(@) (D), (B), (C), (A), (E) (b) (C), (E), (A), (D), (B)
(© (A), (E), (€), (D), (B) (@) (B), (D), (C), (A), ()

gemeaT DT &1 TRey FHRTT AR 778
wifedT, 1860 9 =T aRT F TUSAIT ® —

(a) =T 337 (b) &TRT 228
(c) & 229 (d) SIRT 228A
el IR R P AR Y A Rl
He P FERTl ¥ el IR < —
-
(A) = S
CRIEEE
(D) 3R STURTRET & WaraR @ forg ufengfar

(1)

)¢ 5 T110T






25. Match list-1 with list=Il and give correct answer by

S

using the code given below the lists
List-
(A) Primary evidence
(8) Public document
(C) Private document
(D) Secondary evidence
List=li
(1) Section 74 Indian Evidence Act
(2) Section 75 Indian Evidence Act
(3) Section 62 Indian Evidence Act

(4) Section 63 Indian Evidence Act
Code -
(a) A-4,B-2,C-3,D-1 (b) A-3,B-1,C-2,D-4

(¢) A-1,B-2,C-3,D-4 (d) A-2,B-3,C-4, D1

By the Constitution 103 Amendment Act, 2019,
which one of the following Clause was added to

Article 16 of the Constitution of India?
(a) Article 16 (6)
() Article 16 (7)

(b) Article 16 (5)
(d) Article 16 (4-B)

Match list-| with list-ll and select the correct

answer using the code given below the lists —
(A) International Day of Education

(B) World Environment Day

(C) World Teachers Day

(D) International Mother language

(1) 24 January

(2) 05 October

(3) 21 February
(4) 05 June

25. -l @1 A1 ¥

}-4\‘. ' in

27875

]

26.

2027875

27.

2027875

gAferd HITC
- ) HaEar ¥ el

& 9 Ry ™ 9L
gf

-
(A) TIfAE T
(B) AP HGICS
(C) WTEe ST
(D) fgdras ard

-l
(1) G 74 AT e e

(2) STRT 75 WIRAR e SRt

(3) G 62 ARy el SR

(4) 9IRT 63 WA ARy fAfAIH

aé'\a_

(a) A-4,B-2C3D1 (b) A3 B-1,C2 D4

(c) A-1,B-2,C-3,D-4 (d) A-2,B-3,C4,D-1

wfum 103 wEEE  SAEfFEE, 2019 EN

fr=faRed § ¥ S9—91 @vs 4Rd & dfaur

@ T 16 Y ST TAT?

(a) 3TT 16 (6) (b) 3g5E 16 (5)

() 3ITTBT 16 (7) (d) 38T 16 (4-8)

A1 BT -1 | gAfera Hiforg gen gl

& | & T T | wd S & gh -
T

(A) RIS e feaw

() fagg warfaRr fEaw




28. Match list— with list-ll and select the correct
answer using the code given below the lists -
List—
(A) Article 43
(B) Article 42
(C) Article 44
(D) Article 50
List=Il
(1) Separation of Judiciary from Executive
(2) Living wage, etc., for workers
(3) Provision for just and humane conditions of
work and maternity relief
{4) Uniform Civil Code
Code -
(a) (A)-1,(8)-2,(C)-4, (D)3
(b) (A)-2,(B)-3, (C)-4, (D)-1
(e) (A)-3,(B)-4,(C)-1, (D)2
(d) (A)-2, (B)-4, (C)-1, (D)3
29. "No-;—appeal"shgll lie from a decree passed by the
court with the consent of the parties.” Itis provided
in- :
(a) Section 96(2) CPC
(b) Section 96(1) CPC
(c) ;:st-ecﬁ_aﬁaasla) cPC
(d) Section 96(4) CPC =l
30. Which Article of Constitution  provides for

28.

29.

HHi-1 B Al & w1 '_-I':ﬁ-'-:-'. =5 afre g
& A A T @ w1 yg Y 98
227 = G
-
(A) SFTEBT 43
(B) 3BT 42
(C) 3= 44
(D) 3F=BE 50
-
(1) FTIUTrT @ ~grgaierd ¥ e Bl
(2) siftvepT @ forg frate wergd), onfa
(3) =R AR A B s SR A
BERECARCIERIE]
(a)FA fafae wfed
Fe —
(a) (A)-1,(B)-2, (C)-4, (D)-3
(b) (A)-2, (B)-3, (C)-4, (D)-1
(¢) (A)-3, (B)-4, (C)-1, (D)-2
(d) (A)-2,(B)-4, (€)1, (D)3
qerRT ) G | e gR1 Uik [l
(wfﬁ)%ﬁﬁzmﬂﬁaﬁmwé’l 3l
g JUARIT & —
(a) Ryfer ufpar wfear S &7 96(2) F
(b) Rifrer wfsar |far & =T 96(1) &
() ffre witkar wfear & e 96(3) A
(d) Refaer e wfear @ ©R1 96(4)
FRYF &1 B FgEE HA d Fa

Ry F RIYAT BT WE@ET Bl 87

(a) argeE 279A (b) I 279
(c) argede 270 (d) 3TOT 269A

. “aftreram ST B IRHTH G T -

(a) STfTCTaTEl (b) ermRfaTE] JEEIROT
(c) fageiyd STAERYT (d) ycgetaTd] JAGERON

MR




32. Match list=l

answer using the code given beloy
List—! List—1

{(A) Purpose [heory lmon

(B) Will Theory (2) Gierks

(C) Fiction Theory (3) Ihering

(D) Realist Theory {4) Austin
Code -

(@) (A)-4, (B)-3,(C)-2, (D)
(b) (A)-3, (B)-4, (C)-1, (D)-2
(c) (A)-4, (B)-3, (€)1, (D)2
(d) (A)-3, (B)-4, (C)-2, (D)1

33. Arrange the following in the chronological 33.
ascending order as per relevant Sections of the
India Penal Code —
. Document
Il. Fraudulently
Ill. Dishonestly
IV. Public Servant
Select the correct answer using the code given
below -
(@) L1, 1vandl (b) 11,11, 1 and IV
{e) v, 1ll, i and | (d) 1,11, N and IV
34. Which one of the following is correctly matched? 34.

(@) Section 350 IPC —Rape
(b) Section 354C IPC— Stalking
(c) Section 340 IPC -Wrongful confinement

(d) Section 124A IPC — Criminal conspiracy

35. ‘|dentification proceedings’ are provided under

which Section of the Indian Evidence Act?
(a) Section—9 (b) Section—7
(c) Section—11 (d) Section—8

« Which one of the following is not correctly
matched?
(@) Section 2(6) CPC— Foreign Judgment
(b) Section 2(2) CPC —Decree
(€) Section 2(13) CPC—Order
(d) Section 2(9) CPC - Judgement

35.

36.

() wreafTd

EEIEIE

(a) (A)-4, (B)-3, (C)-

(b) (A)-3, (B)-4, (C)-1, (D)

(c) (A)-4, (B)-3,(C)-1, (D)4

(d) (A)-3, (B)-4, (C)-2, (D)-]

Rrerforfaa @ wiRd qve ¥iedl

AR OX g0 HAFER Adieeid Py

A IEN

Il HICYddD

I, 9SAT H

. o AdP

7 R T FHe BT YA BYd BY Hel T

S

(@ i, 11, IV AT

() v, 1= |

fr=aferfad ¥ 9 @i=ar e gaferd g7

(@) RT 350 YRR SUS Wfed

(b) GIRT 354C MRAIY gUs HfRal — UIST HRAT

(c) &RT 340 ¥R Svs HiRdl — WS TRIE

(d) gRT 124A URCIY GUs Higdl
LERE!

B srRiaEr IRd Oy sRfEag

f&e &/ & 3pf 87

(@ grT — 9 (b) RT — 7

(c) &1 — 11 (d) T — 8

fefofeg 4 @ shar e gl =8

g°

(@) =1 2(6) Rifder it wftar-faRe Pk

(b) T 2(2) Rifder uftban wifear—fean

(0) & 213) fifd wfivan wRa-amw

(d) grr 2(9) Rifder wfdam eyl

(b) 1, 11, 1 TAT IV
(d) 1, 1, i =T v

dollchiY

- ORI
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. c i
An offence punishable with Imprisonment for
term exceeding two years relates to

(@) Summon cases

(b) Warrant cases

(¢) Both of the above (a) & (b)
(d) Neither of the above (a) & (b)

38. ‘A’ is a national champion of swimming in pond. He
could have saved the child, but did not do so. The
child drowned. Is ‘A’ guilty of -

(@) murder
(b) no offence

() culpable homicide not amounting to

murder

(d) abetment of Suicide

39. The Cardinal Principle of Criminal Law ‘Nullum
Crimen Nulla Poena Sine Lege’ means -
(@) no crime of punishment can exist without pre-
existing Criminal Law
(b) ignorance of fact is excused
(c) a man is presumed to be innocent until proven
guilty
(d) ignorance of law is not excused
40. The expression ‘disaffection’ used in Section 124-A
of the Indian Penal Code includes -
(a) hatred or contempt
(b) disloyalty and all feeling of enemity
(c) all feeling of enemity only
(d) disloyalty only

41, Within the meaning of Section 51 of TP Act, the
ot entitled to the value of improvements
: e of improvements

entitlement to the value of

o

37. =t 3

38.

39.

41.

HUNTED 5] sy +
(@) w9 e 9
(b) divve el ¥

(¢) U (a) com (b) &¥AT @

(d) \_",‘T"J?H*‘ (a) .Tﬁ_n“” g9 7§ ¥ e @

Ok

AU A w1 g Aftgge 2 98

P! TAE H gad @ar 8, 98

91 FHAT AT U] 8| qgra, dear g4 A

B | 1A TN B -

(@) &r @1

(b) PIE U AR

(c) g1 @) Hife § F 3+ arel UG HE4E
qg P

(d) TEHET B GERYT B

91T HIgH ol ¥ aregd & —

(@) far @ wnfia smowie Iy @ @
ST ATRM T IM0SH 8] & HHal

(b) Tou FY A &= B

(c) v1¥ 9% <Y Rig 78l 8 Wrar 99 g A
ey g &

(d) fafy &7 3@ &= T8 §

AR SUS Hiedl 3 ORI 124-A H UG 9=

afifer F e & -

(a) gom T JTAA

(b) arafirr e g @ g W

(c) Haet g B A HE

(d) dae spfa

HHRy o S @ a5 @ i 3§

SRl —

(@) afvafes & wwu &1 SRHR T8 2

(b) afvafE @ Hou &1 IRBR &
(c) sfafE @ [ 1 A IREN ¥
(d) g9 | @ T8

IHR] g4+ |




] GHIcH

. g qa- S
42. Moatch list—l with list=Il and select the correct 42. i‘.ﬁ"{‘ftll m-g 1‘1 3] dC il H
answer from the code given below the lists & =T T
List-l 2l - R
A. Causing death by negligence A auem gl ‘-clql &
B. Dowry death e,a%ﬁ gag S
C. Abetment to suicide el Bl ?;T;\T -
D. Attempt to commit suicide D’qug'an ﬁ'\‘ef e
List—ll || S
1. Section 309 IPC 1_2{? 309 AT 7S j,é’;:
2. Section 306 IPC 2. FTRT 306 o
3. Section 304A IPC 3. €T 304A RCII ©7S ;{g;;
4. Section 3048 IPC 4. €T 3048 e
Code - He —
@ (A)-3, (B)-4, (C)-2, (D)-1 (@ (A)3, (B)4, (C)-2, (D)1
(b) (A)-4, (B)-2, (C)-3, (D)-1 (b) (A)-4, (B)-2, (C)-3, (D)-;
(€) (A2, (8)-4, (O)-1, (D)-3 (©) (A)-2, (B)-4, (O, (OF

(d) (A)-1, (B)-2, (C)-4, (D)3
(d) (A)-1, (8)-2, (C)-4, (D)-3 : TN
43. For the validity of a contract, which of the following 43 U@ a1 WfaiaT 3 forg FrfeRad |

elements are necessary? G R EERED 8°
1. Intention to create legal relationship 1. fafdrep a1 goid HRA BT I
2. Knowledge of the offer 2. YT T S
3. Writing of the agreement 3. forRad SRR BT Bl
4. Acceptance of the offer 4, YT B i
Select the correct answer using the code given S Ry T BT A (e b B ﬂﬁﬂ =
below — L v =
'~ Code - =
(@) 2,384 (b) 1,284 (a) 2,33R 4 (b) 1,23R 4
(© 1,3&4 (d) 1,283 (¢) 1,331R 4 (d) 1,231 3
44. When transfer of property by the owner is 4. 59 gufs &1 @Rl 9Eiy SR @
dissented under Section 35 of Transfer of Property, fawa o, a1 FPRrer R &1 ufdey Tt
under which circumstances compensation should AR ARIH @Y gRT 35 P sl (B
be given to disappointed transferee? yRRefaT & ST 9ifee?
(1) Where the transfer is gratuitous and the (1) W& & 3FRor AFURP & R RS
 transferor has, before the election, died or Fatem fde o 9 Yol R AT £ U
otherwise become incapable of making a fresh I RO PHRe % foro e s
transfer. RSN

(2) Where the transfer is gratuitous and the
transferor is, before the election, alive.

(3) When the transfer is for consideration and the
transferor has, before the election died. -

() When the transfer is for consideration and the

transferor is, before the election, alive.

ctthe correct answer-




45. Point out the correct answer
(8) An agreement enforceable by law is a conty
y 1dV } CONEra

(b) An agreement which is not enforceable by law
is also a contract

(c) Every agreement is a contract

(d) None of the above

46. The concept of ‘Double Veto' has been provisioned

under which of the following Article of U.N.
Charter?

(@) Article 28
(¢) Article 27

(b) Article 24

(d) Article 29

47. Order XX - A of the Civil Procedure Code applies to
which of the following?
(a) Appeal
() Cost

(b) Withdraw! of Suits
(d) Judgment

48. Which of the following statements is/are correct?

(1) Pleading to state material facts and not
evidence.

(2) Amendments of pleadings is provided in order
VI Rule 16 of CPC.
Select the correct answer -
(a) Only1 (b) Only 2
(c) Bothland2 (d) Neither 1 nor 2
49. Which one of the following is not the essential
element of sale?
(a) Seller and buyer
(b) Wwithout consideration
(c) Transfer of ownership

(d) None of the above

50. |n which case Supreme Courtsays that, ‘Ownership
is pre-eminently aright’?
(a) P.T. Municchikkanna Reddy vs. Revamma
(b) B.Gangadhar vs. B.C. Rajalingam
(c) Bishamber Dayal Chandra Mohan vs. State of

U.P.

(d) None of the above
51. QUAD (Quaﬂil_é’terai Security Dialogue) Summit,
2022 was held at which place?
(a) Japan (b) Australia
(¢) Germany (d) India

46.

47.

48.

49.

50.

51.

(d) 9ua 9 h1e A8l

Hgad g dieX @ reriforfRad 164
arey Amenieer @1 AgEroN graefi=ic
(a) ;3,;]}:53'(:_ 28 (b) 3{=< 24
(¢) I=< 27 (d) 37T 2

R uRpaT GfRar o1 el Xx—A =1 5 3
fpe U @ Bl 87

(a) adiel (b) gre I arfaE ol
(c) @ (d) fAora

PrefarfRag § 9 ®F—d1/¥ qa 2/ 87

(1) sifWags & dTlcad o A s e
HU BT | _

(2) ST T HA fafae wfsean diedl @
amery| e 16§ AR 2 |

el SR 9T —
(a) Hadl 1 (b) Hae 2
(c) 13k 23l (d) = @ 1,71 &1 2

%ﬁﬁﬁﬁwﬁ—ﬂzﬁrwmﬁ
TE 87

(a) fashar & shdl

(b) fa=1 wiwa

(c) @it Jr=IRd PRI

(d) SR 3§ 9 BIg L

fpg WS W WAt AR | $E 2 &
T g Y @ @ IR &7

(@) 3. FRTEE=T g TTH Y

(b) & TTRR g AL ST

(©) ferey U@ e S we e

74
(d) Suded ¥ § P T
QUAD (A e W) R e, 2022
e @I TR SR s wn ar?
() STaT (b) aifegfer
(¢) T (d) WIRT

AN



52. When the accused is aggrieved by the report of the

Psychologist as to his unsoundness of mind, he may
appeal to -
(@) Migh Court
(b) Session Court
() Magistrate hearing the case
(d) Medical Board
. Assertion (A): Transfer in perpetuity is allowed for
the benefit of public.
Reason (R): Welfare of public at large is above the
welfare of individual.
(@ A & R both are true and R is the correct
explanation of A
(b) Ais true but R is false

(c) A & R both are true but R is not the correct
explanation of A
(d) Ris true but A is false

» Which of the following is not correctly matched?

(ﬂ) Matrimonial communication - Section 122
Indian Evidence Act

(b) Confidential
Adbvisors - Section 127 Indian Evidence Act

communication with Legal

(€) Professional communication - Section 126
Indian Evidence Act

(d) Official communication - Section 124 Indian
Evidence Act

Subject to Sub-Section(2) of Section 64 of the Code
of Civil Procedure, 1998, a private. alienation of
_ propertya&erattachment |s_-—__ :
(ll lmnmpﬂrr s

" 1|,-|1 ARLR] _l'_{-_

kﬁ(b-_! Mﬁdﬂ.@r‘_ -T'ﬂ’-l I_. I-I_-

52.

53.

I e G R

e
a1 8 AN

arreay] & @RI el

(@) oo e T

(b) U arrarerd

(c) %T'TaTé P qra "I @
(d) A are #

AP @ wEe & [y iy

sy (A): Je
R D rHfe € |
1T (R): S TAF R ST 1 e afd
JFW B

(a) Aaﬁ'\’Ra’Iﬂ’fﬂﬂlgaﬁ'\'R,A @1 G AR
2

(b) A § & UG R I ©

(© A 3R R SFT G & AfPT R A B TE
] e ©

(d) R O & W] A I

() fafed WEEAG — ORT 122 9RO G
sifefers

(&) Rf® WelewIel o ey T W
— YRT 127 9RAT 9y afefaas

(©) gRTP FFEAY — gRT 126 WRAT GE
KIBIERE

;d)mmaﬂa'ﬁw—-am 124 VRO &
e

i“'q[‘ﬂ “faﬂ" ?ﬂ%m 1908 a?r HRT 64 SYEIRI(2)



56. Match list=1 with list=li

and select the
answer using the code given below t

List—|

ne hste

(A) Article 2(7) U.N. Charter

(B) Article 4(2) U.N. Charter

(C) Article 33 U.N. Charter

(D) Article 36(3) U.N. Charter
List—ll

(1) Admission of a State into U.N.

(2) Pacific settlement of disputes

(3) Legal disputes to be submitted to International
Court of Justice

(4) Domestic Jurisdiction Clause
Code -

(@) (A)-3,(B)-1,(C)-2,(D)-4
(b) (A)-3,(B)-2,(C)-1,(D)-4
(c) (A)-4,(B)-2,(C)-1,(D)-3
(d) (A)-4,(B)-1,(C)-2,(D)-3

57. Who among the following said that witnesses are
eyes and ears of justice?

(a) Kelsen
(c) Fuller

(b) Holland
(d) Bentham

58. Match list—=! with list=Il and select the correct
answer using the code given below the lists —
List-1
(A) Electronic Records
(B) Opinion as to digital signature
(C) Proof as to digital signature
(D) Presumption as to digital messages
List-1l
(1) Section 47A Indian Evidence Act
(2) Section 88A Indian Evidence Act
(3) Section 22A Indian Evidence Act
(4) Section 67A Indian Evidence Act
Code -
(a) A-3,B-1,C2,D4
(c) A-3,B-1,C4,D2
59. A hangman, who hang the prisoners pursuant to
the order of the court is exempted from criminal
liability by virtue of -

(b) A-4,B-1,C-2,D-3
(d) A-4,8-3,C2,D-1

DT

58.

59.

e ———
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(D) 3fz¥q 36(3) HYdd I

(2) faarel @1 wnfvagel Muer

(3) fafds faarE] &) RIS el
ffée fear S

(4) IAR® ARWHIRAT ITA

Ef;,}_d —

(@) (A)-3,(8)-1,(C)-2,(D)-4

(b) (A)-3,(B)-2,(C)-1,(D)-4

(c) (A)-4,(B)-2,(C)-1,(D)-3

(d) 1A)-4,(B)-1,(C)-2,(D)-3

ArfRag 3 ¥ fhay de1 & TaE IE 3

3@ ©d P B B

(a) Hea (b) Efclis

(c) B (d) 92

-1 B g1l | gAferd Fiforg e g

+ 47 Ry U & A Gel IR DI FUT
BT

A
(A) SRR D SIS

(B) f¥ufied &R Y Xl
(c) festied gxamR &1 WA
(p) Rofee Gy & R H IUEIRT

-1l
(1) TRT 47A R e e as
(2) N1 88A WK W& s

(3) IRT 22A WK el sftfaE

(4) IIRT 67A HINCITA D arferfas

@ -

(@) A-3,B-1,C-2,D4 (bl A4, B-1,C-2,D-3
(c) A-3,B-1,C-4,D-2 (d) A-4,8-3,C2D-1
vF SedE, o e D JRY B ATAR
et 31 BN aar & a8 FEiaRiE D AR
R RIS I o A 8 ® -

(@) gRT 76 TR &US WiRdl

(b) €RT 78 HIRAI VS wtedl

() §IRT 73 ARAR VS Wl

(d) &RT 77 WA €U Hfed

MU




80 r,|:-11-"i1""'

60. Which of the following pair is not mat hed? e
(@) Theft-Section 378 IP( ;a’] o G 378 T ';;»: :
(b) Extortion-Section 383 IP( (b) — 1Y 383 HY o
(e) Robbery-Section 389 IP( ©) T crel 389 A | ) : i
(d) Dacpjty-Section 391 IPC (d) g — 9 391 "'“‘-"-1:_; 5 A
61. Which fﬁé‘of the following is correctly matched? 61. HI"{['ar"j‘t ”[:] j};}l;””j;h‘,ri| qier?
(a) Secé;lj 44 Cr.P.C. = When police may arrest (@) gj{[] ?;q;{”: ek A& M
wutw warrant (b) ST 42 g qﬁ'hm Wfﬁﬂ_ ”1 31T
(b) Section 42 Cr.P.C. — Arrest on refusal to give g & PN e T AN |
name and residence (c) {9 43 2US afgrar Hfgdr - L IE:
(¢) Section 43 Cr.P.C. — Arrest how made & SIgh L o AR )
(d) Section 41 Cr.P.C. - Arrest by Magistrate (d)_ g 41 908 FEPA e o vl

62. The evid_b!"lce may be given o.f following facts — 62. ﬁﬂ%ﬁgﬁ qeat &1 HIE faa S H

(1) Fact§ issue (1) feamere a2
(2) Relewant fact (2) GEITd T L
Select the correct answer using the code given = fer 1Y & ¥ gl I Pl a_,ﬁﬂ L
below -\ e — 3
Code -

(@) dad 1 (b) Bl 2
(a) Only1 (b) Only 2 ;
(c) Both1and?2 (d) o CREUE L e = 2

63. Match gz-l with list-Il and select the correct 63. '\'Iirl’r—-lﬁ '\‘jﬁ—ll 4 ij“-ﬂ%ﬁ I A a7
answer Using the code given below the lists — @ A fou e bl eIl H Hal 9uv
Lisu-R List—I gHT —
(A) Holding over (1) Mortgage -1 -1l
(B) Universal donee  (2) Gift (A) SAICTETROT (1) g7ETH
~ (C) Redemption (3) Lease (B) Fawd STETCl (2) &1

(D) Purchases (4) Sale (C) Hrer (3) 9SeT
Code - (D) s (4) fespa
(@) A-3,B2,C1,D-4  (b) A2,B-3,C-4,D-1 =i
(©) A416%,C2,03  (d) A1,B4,C3,02 (@) A3,82,C,04  (b) A2,8-3,C4,D-1

() A-4,B-1,C-2,D-3  (d) A-1,B-4,C-3,D-2

64. “Jurlspr@nce is the scientific synthems of the 64. “fRftres Ay ® AP Rierd CRIGES
essentialprinciple of Law.” This statement is of - \q-q;}rqq R - S ! 3

(a) Kee (b) Prof. All -
ﬁ e (@) Fres &1 (b) MBHR Ta 1

(c) E.W. Patterson (d) H.LA. Hart _ _
9 © 3 s=g, Yexwe -
65. permission to investigate into a non-cognizable o LU ®1(d) 9. T, T B &

o_ffeﬁc'ecénbe"gra'htedbv- ' STy & R B ) s <
._('a_) Magistrate first class in any part of India (a) 'W'h’% e
(b) Magistrate in any part of State CEw ORI o T & o s e
(c) Magistrate having Jurigdictmn to try th (ST P i

Ll | DTS Rl A S e g

(d) Session Judge




66. Which Provision of the Crp.c

67. Match list—1 with list=il and select the

68. Match list—| with list=Il and give correct answer by

'89. Which of the following executes the decision of

Habeas Corpus Writ?
(a) Section 97 (b) Section 91

() Section 93 (d) Section 96

answer using the code given below —
List-1

(A) Doctrine of Subrogation
(B) Doctrine of Consideration
(C) Doctrine of Accumulation

(D) Doctrine of Lis pendens
List-ll

(1) Section 17 TPA
(2) Section 52 TPA
(3) Section 61 TPA
(4) Section 92 TPA
Code -

(a) A-1,B-2,C-3,D4
(c) A-4,B-3,C-2,D-1

(b) A-3,B-2,C-1,D-4
(d) A-4,B-3,C-1,D-2

using the code given below the lists —
List-l
(A) Voidable contract

(B) Contract
(C) Void agreement

(D) Consideration
List—ll
(1) Section 2(d) Indian Contract Act

(2) Section 2(g) Indian Contract Act
(3) Section 2(i) Indian Contract Act
(4) Section 2(h) Indian Contract Act

Code -
(a) A-4,B-3,C-2, n1
(c) A1,B-2,C3,D4

(b) A-3,B-4,C2,D1
(d) A'4, B"2: C‘Br D-l

International Court of Justice?
(a) Intemational court of Justice itself

_(P) Military Staff Committee
: ,Security Council

esembles witl 66

carrect O

68.

JTeh |

TR 19
(a) YT 97 (b) €
(c) &IRT 93 (d)
GAl—I B A1 A gafera
& ) Ry T ae @ W o

-
(A) TRITIAT @1 i;q—,w——.-,
(B) TH®+ &1 Ragra
() Wau &1 fHgra
() wifted are (forw U<w) @1 RigTd

g1
(1) IRT 17 Gwafer sicwor sfef=aH
(2) IRT 52 |Hfey 3fc¥or Sffei=aH
(3) ITRT 61 wwafey sreRor fRfHaH
(4) gRT 92 TFARY IfcRvT SAfAIFTIAH
El:,:\_c 3
(a) A-1,B-2,C-3,D-4 (b) A-3,8-2,C-1,D4
(c) A-4,B-3,C-2,D-1 (d) A-4,B-3,C-1,D-2
A P Tl E yAfera aifere e e
3 9 Ry 77 He P eI d FE ST

-l
(1) 9RT 2(d) WA wfaaT e
(2) URT 2(g) ¥R wfder e
(3) &RT 2(i) WRAE |fdEr AT
(4) SIRT 2(h) W wfaer e
EE\H —
(@) A-4,B-3,C-2,0-1  (b) A-3,B-4,C-2,D-1
(c) A-1,8B-2,C-3,D-4 (d) A-4,B-2C3,D-1
Rrffed § ¥ B9 RIS R
fyofat @ frenfea ear 87
(a) WY IR e
(b) ¥ werp wffd
(c) grem uRw
(d) HETEIT

page 17 of 40
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70.

g

12

Match list=l with list=ll and select the correc
answer using the code given below the lists
List-I
(A) Right against Exploitation
(B) Equal justice and free legal aid
(C) Power of President to grant pardon
(D) Seat of Supreme Court
List=Il
(1) Article 39A
(2) Article 130
(3) Article 23-24
(4) Article 72
Code -
(a) (A)-4, (B)-1, (C)-2, (D)-3
(b) (A)-3, (B)-1, (C)-4, (D)-2
(¢) (A)-1, (B)-2, (C)-3, (D)4
(d) (A)-2, (B)-3, (C)-1, (D)-4
Which of the following is not correctly matched?
(@) Appeal in case of acquittal —Section 378 of Cr.
P.E
(b) Trial by High Court — Section 473 of Cr.

P.C.

(€) Power of High Court to make rules — Section
477 of Cr. P.C.

(d) Resumption of inquiry or trial — Section 331 of
GreP.C:

Assertion (A): International Organizations play a
very important role in maintaining
peace. '

Reason (R): Countries have conflicts and

dlfferences with each other

Select the correct answer —

(a) (A)is true but (R) is false

(b) Both (A) and (R) are true but (R) is not the

correct explanation of IA}

(¢) (A)is false but (R) is true

(d) Both (4) and (R) are true a

‘‘‘‘‘‘

7.

72.

Ay faa T 9

g
(A) TEOT P frog IEPT
=h |dleid
(B) {HIT - T4 3N }rhg i7

(C) &TH1 AL HI 27 Ireid

(p) FEaTH AT H1 T
Al
(1) 3BT 39A
(2) e 130
(3) ST 23-24
(4) T 72
o —
@) (A)-4, (B)-1,(C)-2, (D)3
(b) (A)-3, (B)-1, (C)-4, (D)-2
(¢) (A)-1, (B)-2,(C)-3, (D)-4
(d) (A)-2, (B)-3,(C)-1, (D)-4
frefafag § § @9 98l gated T8l &7
(@) SryfaT @ g W il — ©RT 378 €€
yfshar wdfedr
(b) Sz e @ GHET fdEROT — €N 473
Tus ufehar wfedl
() Sz =g @ FH g9 @ i -
YT 477 TUS Wfshar Gfedn
(d)ﬁ%mmmﬁﬁ:mmm‘m
331978 gfHaAT wfear
HRPUT (A): RIS Hrew wnfsy wifia
X H 95 AgTal g @
B E |
PR (R): WST B T THR W g T Aae
BT |
el IR B gig —

@ (W) T 2 g () o 2
®) (4) 3 (R) R e ¥ sk (), () @ G
P : : L _'."_g__i.




73. Match list=l with list=ll and sel
c seect

the corrs
answer using the code given below the |
- - 1515

List-
A. Delivery of property
B. Taking of property
C. Entrustment of property
D

. Convertibility of property got innocently to one’
OWN UsSe

List=ll
1. Criminal breach of trust

2. Criminal misappropriation of property
3. Theft

4. Extortion

Code -

(a) (A)-3, (B)-1, (C)-2, (D)-4

(b) (A)-3, (B)-4, (C)-1, (D)-2

(©) (A4, (8)-3, (C)-L, (D)2

(d) (A)-4, (B)-2,(C)-3, (D)1

74. Legal terminology ‘Res Nullius’ is used for -
(a) property of certain person
(b) ownerless property
(c) property of corporation
(d) None of the above

75. In which of the following Sections of the Indian
Evidence Act, the fact showing the knowledge IS

declared relevant?

(a) Section—13 (b) Section—9

~ (c) Section—14 (d) Section—8
' )

76. Which one of the following Provision of the Indian

Evidence Act is not matched?
(a) Section 4 — May presume, Shall Presume,
: _. ‘Conclusive Proof
e (b) Section 17 _ Relevant Fact
(G) Section 45 — Opinion of experts .
Y (d) Section 5 — Evidence may be given of facts in
. {ssues and relevant facts

T i
L Lan

74.

75.

76.

-
A, Trfe 1 gl
B. X &l of
C. ARy &1 =% &Il
0. fyely afie | ure Trufey &1 GUNarad Py

U g B wAT | A
-l
1, STURTeIeh =T |71
> FEgfRy 1 SMaRIRIE g
3. TN
4. SEIH
F_lg?’ —
(a) (A)-3, (B)-1,(C)-2, (D)-4
(b) (A)-3, (B)-4, (C)-1, (D)-2
(c) (A)-4, (B)-3,(C)-1, (D)-2
(d) (A)-4, (B)-2,(C)-3, (D)1
WW‘%&WJ@&H&%M%—
(@) FiReq afee @ gwafd & fo
(b) wE qwf & g
(©) frma & TRy & ey
(d) SRIE # | DIg Tl
T Ay s @ Rrefefaa & 9 fod
oy ST <R B drel a1 g fama
T 87

(a) &IRT —13 (b) &™T -9

(c) gRT -14 — (d) gyRT -8

mﬁﬁmaﬁﬁﬁqﬁﬁmﬁﬁﬁmﬁﬁ

ﬁaﬂﬁwwgﬁ%ﬁﬂﬁ?

(a)wu—ngvﬁmm,mmm.
[REEIPEASES

(b) &TRT 17 — GRTIA TA

(c) U 45— faRwsl @1 W
(d)ms—ﬁmaiﬁmzﬁaﬁvwa@m
ey e o qH

T




e —

77. Assertion (A): Inquiry precedes trial
Reason (R): Trial is the third stage of criminal
proceeding.

(a) (A) and (R) both are true but (R) is not the
correct explanation of (A)
(b) (A) and (R) both are true and (R) is the correct
explanation of (A)
(c) (A)is true but (R) is false
(d) (A)is false but (R) is true
78. Assertion (A): A is a child of nine years. He
intentionally killed B. A may be
proved guilty.
Reason (R): Child below the age of twelve year
exempted from criminal liability.
Select the correct answer -
(a) Both (A) and (R) are true and (R) is tﬁe correct
explanation of (A)
(b) (A) s false but (R) is true
(c) Both (A) and (R) are true but (R) is not correct

explanation of (A)
(d) (A)is true but (R) is false

79. Under which Article of the U.N. Charter, the
‘members of United Nations have agreed to abide
by the decisions of the Security Council?

(a) Article 26 (b) Article 25

(c) Article 27 (d) Article 28

80. Which Article of the Un{versal Declaration of
Human Rights, 1948, grant Rightto life, Ilberl:y and
securityafherson?
?(8) Articlml

Sty fAEROT

) ;rfia:ilﬂf).{?l‘arm ILRUCEE GAREIE
el © |
(@) (A)3R (R) S T aife (R)
] el 2 |
(b) (A) 3R (R) of 9 © allR (R), (A) @
el B

(© tA)W%m(R)W@
(d) [R)W%W(A)Wg
o (A): o A @ B Y B D
ag | @ ) AR odl 2| W B
ﬂﬁﬁ[g_mmwgl
U (R) GRE q§ W PA IY D A
RIS e ¥ A =

wd SR g —

(a) (a) 3R (R) AT WE & TAT (R), (A) I e
WEET &

(b) (A) T & TR (R) WET &

(©) (a)3R (R) ST FE & T (R), (A) P FE
TWEHRYT T8 8

(d) (A) e & TXG (R) T &

. I T AR B b AW B o,

WY W S WA g uRvg & foiai @
g B?

(@) Irg=™T 26
(©) g 27

(b) Irgese 25
(d) 3rfesT 28

Wwﬁﬁﬁﬂﬁﬁﬂ’mﬁ 1948 @

ﬁ“‘m@?ﬁmw&ﬁa&‘r@aﬂ SEnEen



81.

Given below are two statements

one is labelled

Assertion (A) and other as Reason (R)
h o '.I

Assertion (A): United Nations Chart :
< dlfier does

authorise  United Nation:

Intervene in matters which are
- . - ale
essentially within the domestic

jurisdiction of any State
Reason (R): This principle shall not prejudice th
- - =
application of enforcement measures

under chapter Vil of the U.N. Charter
Select the correct answer using the code given
below -

(@) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(b) (A) is true but (R) is false

(c) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(d) (A)is false but (R) is true

82. ‘Movable Property’ under Section 2(13) of the Code

of Civil Procedure Code, 1908 includes -
(@) growing crops (b) buildings

(¢) money (d) growing trees

83. Match list= with list-ll and select the correct

*

answer using the code given below the lists —
List—
A. Section 16 Indian Contract Act

B. Section 71 Indian Contract Act
C. Section 2(d) Indian Contract Act
D. Section 56 Indian Contract Act

List—l
1. Consideration
2. Agreement to do impossible act
. 3, Undue influence
4, Finder of goods
" Code -

(@ (A)3, (B)4, (O, (D)2

@ (A263 O (D)-4

(&) (83,61 (C)-4, (D)2

2, (B)-4, (€)1, (D)-3

82.

83.

AMWHA (A): HYT &

HI (R): T Ry Gg T$ AR P IFEAR
i A Sfsfed vads Surl @ FaI
) P Uhd HE o el
T |
R R T gHe | wE TR YA
(@) (a)aiR (R) T T & fbg (R), (A) & Tal
R FE] HYdl ©
(b) (A) Gy & fbeg (R) o ©
(©) (A) &R (R) I ey & SR (R), (A) DT e
& B ©
(d) (A) 3T & fbeg (R)TH ®
Rifyer ufpar wfear, 1908 @1 &RT 2(13) ®
st ‘ot wwafer A aftaferd € -
() S (b) TR
(c) & (d) ST US

—laﬁtﬁ—alﬁgﬁﬁlﬂﬂﬁf@ﬂmﬂﬁﬁmﬁ
a%ﬁ%lﬁﬁﬂﬁzﬁgﬁﬂﬁwqﬁv—
GEle
A €T 16 WA e fafer
5 g7 71 AR Hfder
C T 2(d) e e fafy
D.Wssqﬂﬁmﬁiﬁmﬁfﬁ
-
1.
5 arevd B FE D forg FIN
3. I 9T
4. 9T GST U Tl

TES

(@) (A)-3, (B)-4, (C)-1, (D)2
(b) (A)-3, (B)-1, (C)-4, (D)2
(© (A)-2, (8)-3,(C)-1, (D)4
(@) (A2, (B)-4, (€)1, (D)3

AR




84,

Match list=I with list=1l and select the corred
answer using the code given below the lists

List—l

(A) Part performance

(B) Conditional Transfer

(C) Appointment of receiver

(D) Implied contracts by mortgagos
List=il

(1) Section 65 TPA

(2) Section 53A TPA

(3) Section 69A TPA

(4) Section 25 TPA

Code -

(a) A-2,B-4,C-3,D-1 (b) A-2,B-3,C-4, D-1

(c) A-2,B-1,C-3,D-4 (d) A-3,B-4,C-2D-1

Which of the following instruments have been
excluded by the application of Section 137 of the
Transfer of Property Act, 18827

Select the correct answer using the code given
below -

(1) Stocks

(2) Shares

(3) Debentures

Code-

(@) All1,2,and3 (b) Only1and3

() Only1and2 (d) Only2and3

In November 2021, which of the following has
launched a new Journal ‘Solar Compass’ to enhance

_research on the use of Solar Power?

(@) Euro-solar
(b) Global Green Growth Institute

(©) International Solar Alliance

_ (d)* "Unlted Nataons Environment Programme

84

(a)mmaﬂ%%gmﬁ'maﬂﬁﬁ

gell—| ] el
.II L9 fay Y
g
(A) ATTD
(8) Erd 3
O RALIES # i
derep bl &I fararfard

e+

90|

."ii;:-_l

(D)

-l
(1) GIRT 65 argfey ARl arferfers
(2) EITRT 53A gwfRr Al afefAaH

(3) ETRT 69A ey afaRol SR

{4}%25@%3{6‘\"’13@1”??”

@._

(a) A-2,8-4,C3,D-1 (b) A-2, B-3,C-4, D-1

(c) A-2,B-1,C3, D4 (d) A-3,B-4,C-2, D-1

ﬂmﬁimwmﬁuﬂmszaﬁ%w 137 @
sﬁéﬁﬂl%rﬁﬂﬁﬁﬁﬁmtrﬁ e

aﬁmﬂmwa‘?

%mwmﬁﬂ@ﬁ?ﬁgﬁg_

(1) Eid

(2) 3

(3) FUTIH

Eﬁa_

(a)lzaﬂ?awﬁ(b)&‘mﬂlmaw

(c) daer 1 AR 2 ® (d) Hael 2 3R 3 T

frfafag & @ fbas 2021 & d@R oo

SYIRT ) I afafefr sem & fow ue |
Y AT HIeR ™ dlFd B 8

S

)'11!

(a) REIeR

(b) fwg &RaTe e wrem
(c) SR W Toq=e

- (@) §gH g gyt BrRisH
- Rufae ufshan wfRen, 1908 & sRT 75 wraET

FRA & —




88. Read the following statements cq, full
arciu v

A. The presumption of legitim ey of cl
< Sy OF chind e

governed by Section 112

Act.

& =
fthe Indian | vidence

B. Narendra Nath Pahari vs. Ram Govind Pahari
o daflis a3

leading case on the legitimacy of a child he
: arn

during the continuance of valid marriage
From the above - |

(a) Both A and B are false
(b) Ais false but B is true
(c) Both Aand B are true

(d) Aistrue but B is false

B9. Which of the following is correctly matched?

(a) Revocation how made - Section 5 Indian

Contract Act

(b) Acceptance must be absolute —Section 6 Indian

Contract Act

(c) Person competent to contract - Section 10
Indian Contract Act

(d) Responsibility of finder of goods - Section 71
indian Contract Act
90. |n executing a sentence of solitary confinement,

such confinement shall in no case exceed, how

many days ata time?
(@) 21 days (b) 14 days
(c) 01 month (d) 7 days

91. Which of the following pair is not correctly
matched?
(@) Short title of Constitution = Article 1
(b) Adv6¢ate General for the State Article 165

(c) Official language of State — Article 345

(d) Constitution of parliament = e

ey &he Headquarter of the ‘World intellectual
g1 o’ is located in -
o (b) Paris

(d) Geneva

89.

91.

92.

B. U o= fdqe & a+ Ue |
GG @ Wige H A A UETS
mid=e Ysrel U YHE 9l

IUNaT H

(@) A 21 B8 §IF TTeld &

(b) A Tola & oifthd B HEl &

(€) A ToTB Gl Bl &

(d) A Hel & ol 7Terd &

fr=fafaa § @ siFar 98 gaferd &

(a) wfgexvT &u i I &

wfaer fafer

(b) yfeprer arcafa® BT dfey — &R 6

AR wfaer &

() wfaer o @ forg wew &fdd — =1 10
JRdra wfaer faf

(d) He ST U arel 1 Sovalfded — 8T 71
qRA wiaer A
qﬁ?’lﬂﬁﬂﬂﬁﬂ?ﬂﬁﬁﬁﬁﬁ?ﬁ&ﬁ%=

BINTT?
(@) 2113+ (b) 14 f34
(c) 0178 (d) 7 e

P 4 9 - g W & | g
8 8°

(a) T BT SR TH — T 1

(b) YU T HEISEET — STW 165

(c) WY Y AGHTNT — T 345

(d) TS BT TS — ITHT 79

g fES WL WIS BT TE Rerd
-

(a) AfFS ¥
(c) =i

(b) ufkw #
(d) S=ar |

- &R 5 S E I 125

(WA AR



93. Match list—! with list-Il and select the answer USINg
the code given below the lists
List-I
(A) Execution of Decree
(B) Letter of request
(C) Legal representative
(D) Institution of Suit
List=lI
(1) Section 50 CPC
(2) Section 26 CPC
(3) Section 77 CPC
(4) Section 38 CPC
Code -
(@) A-1,B-2,C-4,0-3 (b) A4,8B-3,C-1,D-2

(c) A-2,B-4,C1,D-3 (d) A-3,B-4,C-1,D-2
94. Which of the following is not correctly matched?
(a) Presumption as to dowry death — Section 113A

Indian Evidence Act

(b) Presumption as to documents thirty years old —
Section 90 Indian Evidence Act

(¢) Official Communications — Section 124 Indian
Evidence Act

(d) Order of Examinations — Section 138 Indian
Evidence Act

95. |n case of death of the President while in office, the
Vice President can act as President for a maximum

period of -
(a) 3 months (b) 2 years
(c) 1year (d) 6 months

96. Which one of the following principles is laid down
:i_i:n'__-tl_tg:case:_-of Rajesh Kant Roy vs. Shanti Debi?
(@) Principles of Vested interest
(b) Principles of Part Performance
(c) Prineipfesnms Pendens

93. el Pl 4

i @ gAferd

& 4y v MY B 1 Herdl

-
() R 1 FAsIre

(8) TR T
(c) fafera faftre ufafAf

[{)}EHE & q:[f%ﬂ]ﬂ Al

|
(1):15?_5'0 Rafrer wfehaT Wi
Ryfiel gfapar dfecdl

(2) EIRT 26
R afibar wfedl
g gfgFar fed

(4) ©IRT 38
HT —

(a) A-1,B-2,C-4,D-3 (b) A-4, B-3,C-1, D-2
(c) A-2,B-4,C-1,D-3 (d) A-3,B-4,C-1,D-2

94. fyffad § | @F W1 "l gaferd el €

(@) To1 §oY B AR H SUERUT — ©RT 1134
g wra sefE

(b) g af QR TEES b IR H TR -
T 90 VR WTey eI

(c) TTHSIT HYTAE — ERT 124 WA e
e '

(d) uermsif &1 HH — GRT 138 HRAT e
iy

9. gg W &4 g UKUM B I B FH W

Su-—RTEfe siffihad fdhas Ry q wufd
@ W0 H BRI B Fbar 8?

(@) 371" (b) 2o

(c) 19 (d) 6718

9. fr=fofad # & B w1 Rigia <o sid

W"mﬁ$mﬁﬁmﬁa§an§?
(@ ffea foa &1 Rigra
(®) i g w7 Rygre
() <ifde ars @7 Rigig

(d)‘ﬂmf%l'cr%aaﬂﬁ:@a



98. WhiCh one of the followin

DAt

matched?
(a) Number of Judges in International
justice = 20 itonal Court o

(d) Apartheid —Treating all the pegple

(c) Article_38 of the Statute of lmer.n;-mod ir'im?.
of Justice — Sources of International l'"a“

(d) The Seat of International Court ofMJ:surr-

Paris

.
Ot
OUT

90. i:li::;;he following combinations are correctly
(1) Interpleader Suit - Order 35 CPC
(2) judgment and Decree - Order 20 CPC
(3) Wwithdrawal and Adjustment of Suits - Order 23
cpC
(4) Payment into Court - Order 21 CPC

select the correct answer -

Code -
(a) 2,3and 4 (b) 1,2 and 3 !
(¢) 1,3and 4 (d) 1,2 and 4"

100. Assertion (A): The Indian Penal Code contains
certain exemptions from criminal
liability. L
Reason (R): These cannot be universal énlminal
liability in all circumstances..
' select the correct answer - I
(@) (A) s false but (R) is true
(b) (A) and (R) both are true and (R) is the correct
explanation of (A)
(¢) (A) and (R) both are frue but (R) is not the
correct explanation of (A) En
(d) (A) is true but (R) is false
101. Which Section of cr.p.C. is relatégﬁ‘_ to “no
unnecessary restraint”? |
(a) Section 46 (b) Section 45:31
(c) Section 49 (d) Section 451
sin which oné

N

fhﬁi’sﬁbjecﬁ of criminal procedure fall

Wi a7
e following List of the Constitution of India‘
¥ -‘ '.

(b) State List
(d) None of the above

99.

100.

101.

102.

(b)
gl
C) T =T
38 — 3R fafer & Hid
(d) 3T T @ 4o @

rforfigg 5§ & & | g™
gHferd &7

(1) ST arg — ATed 35 g 9
(2) faofg e fSsht — e 20 Rfae wfshan
(3) el P Agd gd FHEN Ao — e 23

(4) =argTedl el — e 21 fafaa

e 9} gAY -

@ —

(a) 2,3 72014 (b) 1,2C2013
(c) 1,374 (d) 1,2 =11 4

afrEeE (A): MR 7S Hfear A AORIES
ife @ BB TS E |
W(ay:wﬁqﬁﬁuﬁﬁgﬁﬁﬁ?ﬁ
Wwﬁaaﬁﬁw%u

HE SR gAY —

(a) {A)W%W(R)W%

(b) (A) 3R (R) ST T ¥ 3R (R), (A) D &
R &

(c) (A)aﬁ?(a)a\:ﬁm%zﬁﬁﬁ(m,m}ﬁ T
e T8 8

(d) (n)w%m(n)m%

mmﬂ%maﬁaﬁqﬁammm
aaﬁﬂﬂmﬁ"@mtﬁlﬂ%?

(a) &RT 46 (b) &RT 43

(c) &I 49 (d) &=T 44

zug yiean fasa wRd & dfwm @
qﬁtﬁﬁﬁm@a"ﬁﬂamé?
(a) g gAl A (b) Y= A #
(c) wad! A H () JuRad ¥ P e

RN

\



103. wWhich of the following >ection
Procedure, 1908 deals with transfer of d
execution?

(@) Section 16 (b) Section 39

(c) Section 51 (d) Section 42

104. Taylor vs. Caldwell, 122 ER 309 is a leading case on
which topic in Indian Contract Act, 18727

(a) Offer (b) Doctrine of Necessity

(¢) Contingent Contract (d) Doctrine of

Frustration
105. Russian invasion on Ukraine violates which Article
of the U.N. Charter?
(a) Article 2 (4)
(c) Article 4 (2)

(b) Article 1 (4)
(d) Article 3

106. Assertion (A): Right to Education is a
Fundamental Right.
Reason (R) : Our Constitution has no provision for
education before making Right to
Education as Fundamental Right.
Select the correct answer -
(a) (A)is false but (R) is true

(b) (A)is true but (R) is false

(c) Both (A) and (R) are true but (R) is not a correct
explanation of (A)
(d) Both (A) and (R) are true and (R) is the correct

explanation of (A)

107. Arrange the following in the chronological order on
the basis of Sections of Criminal Procedure Code -
I- Public prosecutor
Il- Special Metropolitan Magistrate
IlI- Special Judicial Magistrate
IV- Court of Session
Select the correct answer using the code given
below -
Code -

(@ 1,1v, i and Il
(€) v, 1, 1land |

(B) I, 1v, lland |
(d) 1,1, 1 and IV

————

104.

105.

106.

107.

o qAM dlesdac,
sifer aifdyfrr, 1872 M
qTHe &7
(@) gRIg
(c) TaTf¥c Gide (d) X
g W O P ;s'n'ww“ 1'
fpe I P JoolH B?
(a) aa—u{}—c:z (4) (b) ;711~__1.r§-5':
(¢) 3T 4(2) (d) srg=o< 3
@ () : R &1 AR U@ Allcd
PR © |
PROT (R) : T2 ® IRPR @ Hiferd s
M ¥ gd B9R wfaEr J R
PR FERId ®ig raer= 2]
o |
gel IR gHg —
(a) (A)3FT & TR (R) UH &
(b) (A) ¥ & TR (R) 3G &
(©) (A)3R (R)3HI ¥H & R (R), (A) BT HFE
WEHRY T8l &
(d) (A)3IR (R)THT T & 3R (R), (A) BT HEI
TR &
frefaRea @1 gus ufthar wifear @ gt @
SR T HAGAR Faferd BTG —
I-Ah AASTH
I- oy wEFR AR
n- Ry =fis wfge
V- 99 ATy

@ 1, 1v, maiR
© v, m, naix|

®) 1, v, n3ix |
@) 1,0, maiR v

[1‘%?134102 Page 26 of 40
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8. Match list—! with the list-l| and S
answer using the code given below (
List-|
(A) Duty to register FIR
(B) Laches In investigation
(€ Faulty investigation
(D) Delay in examination of witnesses
List-1l
(1) Rajinder Singh Katoch vs. Chandigarh
Administration and others
(2) Krishnegowda vs. State of Karnataka
(3) Saidu Mohammed vs. State of Kerala
(4) Surjit Sarkar vs. State of West Bengal
Code -
(@ (A)-2, (B)-1, (C)-3, (D)-4
(b) (A)-4, (B)-3, (C)-1, (D)-2
(©) (A)-3, (B)-1, (C)-2, (D)-4
(@ (A)-1, (B)-2,(C)-3, (D)4
109. Match list-1 with list-Il and select the correct answer
from the code given below the lists —
List-1
(A) Free consent
(B) Misrepresentation
(C) Coercion
(D) Fraud
List=ll
(1) Section 17 Indian Contract Act
(2) Section 15 Indian Contract Act
(3) Section 18 indian Contract Act
(8) Section 14 Indian Contract Act
Code -
(a) A-4,8-3,C-2,0-1
(c) A-2,B-3,C-1,D-4

(b) A-L,B2C% D-4

(d) A-3,82,Ch £

- crime?
Which of the following i< not an element of

(b) Object
(d) Human being

(B) 3=V H [dol™<
(C) '*?.jﬂ'ﬂ =G
(D) TRl B UNIETOT H [dottd
-l
()RR Rig wer g FusiTe TR 7q
ar=
(2) PETIRST G FATEH T4
(3) ¥g HIEHE 99M HYel TS
(4) FRSATE TR A AT X
QEE =
(@) (A)-2, (B)-1,(C)-3, (D)4
(b) (A)-4, (B)-3, (C)-1, (D)-2
(¢) (A)-3,(B)-1,(C)-2, (D)4
(d) (A)-1, (B)-2,(C)-3, (D)4
109. F— BT -l < gAferd PIfeTY =T gl
a‘s%ﬁmwaﬁaﬂqﬁmaﬂﬁgqﬁw
&1 TIF DTG —
Gl
(A) T G
() TTeidl FAT
(c) ydTS
(D) U

-l
(1) ITRT 17 WA q:n‘aaT st

(2) ERT 15

(3) ETIRT 18
(4) SR 14 WA wfaer A

'az\? ==

(a) A-4,8-3,C2,01 (b) A-1,B-2,C-3,D-4

(c) A-2,83,CL D-4 (d) A-3,B-2,C4,D1
110.ﬁ~;{ﬁﬁﬁﬂwa<‘dwmaﬂq€i%‘?
(b) SR

(d) g wrel

(AR AIANN



111. Under the Indian Evidence Act, 1872 how many

witness are required for the proof of any
fact?

() Not specified
() Atleasttwo

(b) At least one
(d) At least five

112. Consider the following events and arrange them

into chronological order -
I. Cross examination

Il. Examination in chief
11l. Re-examination
Select the correct answer using the code given
below -

Code -

(a) 1, and)
(€) 11, tand 1l

(b) 1, 1l and Il
(d) 11, tand |

113. Which one of the following Section of Criminal

111

12

113.

b ded

wqredyy wea A, 1872
& oy &) e e @ e
@l Bl &7

(a) fafde w8 (b) FH H &

(¢) @H A & @ (d) H9 9§ &H U
Rrefaifad geamil TR faar HISTT a6
PTel HHFER AR BT

. gfer asier

IIl. & T

0. g e

43 Ry v Fe § F& IR & AT -
@ =

(@) n, el (b) 1, 1T

(), 1T (d) 11, 11 AT

mmﬁ%mwnaﬁﬁwmaﬁﬁ@
g Ry 8 @er T @ 6 Big A =

: Proeedure Code, 1973 provides that, ‘No judge or
l’ . i trate shall try any case in which he is a1 FReRse O Aa @, R 98 W R
k. eresied? 2, e i aR?
4 s () T 478 (d) aRT 477
E 14, i) 31 -1 & gafera ST o e

"__\ u;-."l'l'n ”"', |- -

g
e
z.
g -
<
o
2
|

& A A T3 HE & YET XA g HEl ST
BT U DI —
-
(a) TR ERT FRwar)
(B) Wizgde afd gRT fRwam
(C) ARwr &9 &I FRA
(D) gferer aferTY g1 faW dfvve @& fRuar
-l
(1) IRT 41 gvs ufshar wfaar
(2) T 43 TUS UfhaT WiEdr
(3) UIRT 44 <vs Yfshar wfgar
(4)m4smm#faﬁr




115. Match list=! with list=ll and select +
answer using the code given below 11L1 -‘HI.
List—i LNe lists
{A) Language of the Court
(8) compensation to the victim
(C) Classification of offences
(D) inherent powers of High Court
List—l
(1) section 482 Cr.P.C.
(2) Section 212 Cr.P.C.
(3) section 357 Cr.P.C.
(4) 1% schedule Cr.P.C.
Code -
(@ (A)-2, (B)-3, (C)-4, (D)1
() (A)-4, (B)-2, (C)-3, (D)-1
(©) (A)1, (B)-4,(C)-2, (D)-3
(d) (A)-3, (B)-1, (C)-2, (D)-4
116. ‘A’ commits theft on the property in the possession
of ‘B’ and while committing theft ‘A’ has a loaded
pistol under his garments, kept for the purpose of
hurting ‘B’ in case if ‘B’ resist.
The offence committed by ‘N is defined under
which Section of the Indian Penal Code, 18607
(a) Section 390 (b) Section 382
(c) Section 381 (d) Section 379

correct

~ 117. An agreement, the meaning of which is neither
certain nor is capable of being certain is -

(@) lllegal (b) Voidable

(c) Void (d) Valid

- 118. Match list-1 with list-1l and give correct answer by
using the code given below the lists =
List—l
(A) Composition of General Assembly
(B) Composition of security Council
(C) Composition of Economic and Social council
(D) Composition of Trusteeship Councl
List-l
(1) Article 9
(2) Article 61
3 (3) Article 86
~ (4) Article 23

115 (
A .'_j-”! G 7| ,-I],-‘|i i ji“.'[,"."

b A A T He A e
-
(A) FTTAT @) HTHI
(B) Nf&d &1 ufcas
(C) 3Rl &1 aTfTenRyl
(D) Sed RIATed Bl ardfifaa 2
-l
(1) ITRT 482 GV Wfshdl digdl
(2) &IRT 272 §US Ufshdl Hfedr
(3) IR 357 TUS Ui i
(4) T2 TGN €vS Uil el
e -
(@) (A)-2, (B)-3, (C)-4, (D)-1
(b) (A)-4, (B)-2, (C)-3, (D)-]
(c) (A)-1, (B)-4, (C)-2, (D)3
(d) (A)-3, (B)-1, (C)-2, (D)4
116. g 1 FeoTE W U I AR Pl 2 3N
@Wﬁﬁéﬁ?ﬁ[ﬂ\ waar &, foraw @& 9 &
R el o TR @ 1 eI g P
1sﬁo,ﬁmwﬁqﬁmﬁﬂwmﬂﬁ"

(a) €IR1390 (b) €17 382
(c) uRasL. (d) €IR1379

117-wammaﬁﬁﬁaﬁﬂﬁ%m%ﬁw
fparT T & T § —
(a) ardEr ® (b) SEIERITE

118, gl ®1_ga- J gfera g T 3 ;

HZ\? —

@ (A)-1,(8)-2.(C)-3, (D)-4
() (A)-3,(8)-2,(0) -4 (D)-1 -
“(©) (A)-2,(B)-3,(C)-4, (D)-1
@ (A)-1,(B)-4,(C)-2, (D)-3

P TR
(AR



119.

120.

121.

122.

Match list—=! with list=ll and seleci

answer using the code given below
List-I
(A) Settlement of dispute outside the court
(B) Suit by or against Government
(C) Interpleader Suit
(D) Resistance to execution
List-Il
(1) Section 74 CPC
(2) Section 88 CPC
(3) Section 79 CPC
(4) Section 89 CPC
Code -
(a) (A)-4,(B)-2,(C)-1, (D)-3
(b) (A)-3,(B)-2, (C)-4, (D)-1
(c) (A)3, (B)-4, (C)-2, (D)-1
(d) (A)-4, (B)-3,(C)-2, (D)-1
Which one of the following Section of Transfer of
Property Act relates to ‘oral transfer'?
(a) Section5 (b) Section 8
(c) Section7 (d) Section9

Which of the following pair is not correctly

matched?

(@) Joint transfer for consideration - Section 45 of

TPA
(b) What may be transferred - Section 6 of TPA
(€) Oral transfer - Section 9 of TPA

(d) Vested interest - Section 21 of TPA

Under which one of the following Articles of the
Constitution of India, the Supreme Court has power

to review its own decisions?

(@) Article 138 (b) Article 137

(c) Article 136 (d) Article 135

120.

121.

122,

(D) FrETEA & IEEd
g1l

(1) g1 74 Rt A

(2) urT 88 Fafde wisham wledl

(3) & 79 Rafder wfshar W\l

(4) e 89 fufaer gfshan wied

C-!“:_\ —

(a) (A)-4, (B)-2, (C)-1, (D)-3

(b) (A)-3, (B)-2, (C)-4, (D)1

(c) (A)-3, (B)-4, (C)-2, (D)-1

(d) (A)-4, (B)-3, (C)-2, (D)-1

Ty R SR P i A GRT HINGD

R wEfT 87

(a) &RT 5 (b) &7 8

(c) &Ry 7 (d) &IRT 9

ol 87

(a) ufcrpered HYdel 3ARIT 7 NI 45 gy
SRV SHfEaH

(b) T AR fFar S T — URT 6 W
IRl SR

(c) Hiflg® 3FRVT — oRT 9 Ffy awo
arferf=H

@) fAfeg @Rl — g™ 21 Gwfy s
e

TR D Sedd WA @ GReE @

Frefofeg sg=est & 9 f5a sgwe @

ST oo vt & gefdeta @ wfee

e?

(a) srgesq 138

(c) argese 136

(b) 3T 137
(d) 3rgese 135

(16-C])-134102
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428 M2

match list-| with list-ll and sefect

ghswer using the code given below the correct
List—1 e lists

(A) Contents of charge

(8) Judgment
{q Assistant Public Prosecutor
D) Reference to High Court
List-1l

(-1)_5ectlon 395 Cr.P.C.
(2) Section 25Cr.P.C.
(3) Section 353 Cr.p.C.
(8) Section 211 Cr.P.C.
s [@de'
(&) (AKL, (B)4, ()3, (D)2

(b) (A)-4, (8)-2, ()3, (D)-1
@ W4,®)13,02 011

(d) (A)-3, (B)-4, (C)-2, (D)1
list=l with list=ll and select the correct
by using the code given below the lists —
List-I1

(1) Geneva
(2) USA.
(3) Netherland
(4) Paris

) -2, (B)-3,(C)-1,(D)-4
4, '-ctn.- %) tC) -2, tm -3

'fﬂ‘le followmg is an exception to the maxim

(b) Positive right

(d) |mperfect right

\): Admission is only prima fa facie proof.
rmssion is not a conclusive proof but

mav-opemte asan estopple-
are true and R is the correct

true but R is not the correct

page 31 0f 40

123.

124.

125.

126.

gl @) g 8 YHlerd | Sifome e i
D AR A T G | e S B I
ﬁfﬂ I
) SR &Y SR
mmiwm

(C) TERTE At SITHATAD

(D) F=a =aTer & e
-

(1) TRT 395 qUS WA Hfed

(2) IRT 25 vs wiEhdl wfed

(3) RT 353 gUS Wi Wl

(4) g1 211 50wt Hfedl

ﬂ? =

(a) (A)-1, (B)-4, (C)-3, (D)-2

(b) (A)-4, (B)-2,(C)-3, (D)-1

(c) lAl -4, lB} -3, u:] 2, {D} 4

- A
(A) D] (1) ot
(8) RIS sW wIed  (2) LARIAN

(@ (A)-2,(8)-3,(0)-1,(D)-4

(b) (A)-4,(B)-1,(C)-2,(D)-3

(©) (A)-1,(B)-4,(C)-2(D)-3

(d) (A)-1,(B)-2,(C)-3,(D)-4

fPyferfaa # 9 S et SfSyeR &, 981 SUAR
%%ﬁamﬁma%?

(a) ot arfErwR (b) WHRIHAD IETHR
(¢) THRIHE IR (@) arquf SrfErpT

SREO (A): TP dact TP Y Gl

il
FHRT (R): @?ﬁﬁﬁmﬁﬂ@ﬁﬁ%ﬁﬂ
frg=r &1 w2 |

(@) A@?Rﬂ?ﬁw%aﬂtnaaﬁaﬁm@l
8 _

(b) AT & TR RIWA &

(©) R & TR AR B

(@ AR RAM ¥ & AfH R, A B WE

aren TE @
LR




Th
Confession
gither admit in terms the offence
substantially all the facts whict
yffence.”

The above view was expressed by tl
in which one of the following case
(@) John Makin vs. Attorney General
(b) Pakla Narayan Swamy v:
(c) Q.E.vs. Abdullah

{(d) H.H.B. Gill vs. King Emperar

Empero

red by the

128. ‘A’ owes ‘B’ ¥ 1000 but the debt is bar
Limitation Act. ‘A’ signs written promise to pay ‘B
T 500 on*account of the debt. This is a
(a) Void contract (b) Contract

(e) Void agreement (d) Agreement

129. Given below are two statements, one is labelled as

Assertion (A) and other as Reason (R) -

Assertion (A): International Court of Justice has
power to decide cases on the basis of
equity.

Reason (R): Equity is one of the general Principle of

Law recognised by civilized nations.

Select the correct answer using the code given

below :

Code -

(a) (A)is false but (R) is true

(b) Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(c) (A)is true but (R) is false
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A)
130. Match list — | with list — Il and select the correct
answer using the code given below the lists —
List—I

(A) Section 146 IPC

(B) Section 340 IPC

(C) Section 192 IPC

(D) Section 383 IPC

List=l

(1) Fabricating False Evidence

(2) Extortion

(3) Rioting

(4) Wrongful confinement

Code -

(a) A-1,B-4,C-3,D-2

(c) A-3,B-2,C-1,D-4

(b) A-3, B-4, C-1, D-2
(d) A-2,B-4,C-3,D1

128.

129.

430.

(a) il

(b)

(c) o :Ii.

(d) U=l U=l o el o

g’ & 10003 ‘A I]

afeifad g™ ‘|:‘1.i.

&l 5003 a1 @l e IEE

) I Ueh

(a) I el & (b) il
(c) I PR & \m? T :
;e wua Ry T e

e (A) SR gar @1 HRY(R)
SR (A): SRS el @
AR R HHEl @ [
g & |
NI (R): HTRI X ] gINT AT=ICAT U
& |y g 3 9 U
$ R T @ § "8l ST G
al? 3 o
(a) (a) 3Ty & fbeg (R) § &
(b) (A) 3R (R) ab]_"ﬁ 99 & i—f\f‘_'r]} (R), (A) B
A HEl HIdl &
(©) ()T B fheg (R) 3 2
(d) (A) 3R (R) 2T ¥ & 3R (R), (A) &)
A Bl &

'\'Ifﬁ—l 3| Tﬁﬂ—rlﬁ ﬁﬁlﬁ*ﬁ pIfore den g

& A &4 1Y de ¥ ¥ IR B gy
A

(A) UIRT 146 RGO v digdr

(B) HTRT 340 YR<TT Tv8 Gfedn

(C) &RT 192 ¥R<TT gve Hiaar

(D) ©IRT 383 MR qve wfear
A

(1) oo we &R e

(2) Q&MY

(3) dedr BT

(4) T=1Y gRRRr

EE\E e

(@ A-1,B-4,C3,p-2

(b) A-3,B-4,C-1, D2
(c) A"a, B--2il c‘l, D-4

(d) A-2,B-4,¢-3,D-1

[16-C]-134102
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131. Under which of the following condit;,
of the Transfer of PrO(‘lU.ﬂ\r Act o 2
applicable? 1882 is not

SECtion 12 131

.!:‘H'- Rl '-|i'-'ri']'-~'| 1RR7

(a) Where th EleiRa # § fdhw 9 @, el
e transfer is gy _
b N b\i the way of sale (@) g A=Yl [ g™l 83l & |
(b) Where the transfer is by the way of exch: (B) ort s R T BT
(¢) Where the transf - =xChange Al [T g} 83
ster is by the way of gift (c) Wai arur e BRI BT B

(d) Where the trans
132. Arrange the foll feris by the way of Lease (d) W8] sf=cRur yee gRI 890 2
ow : 3
B Basicer Ssctio Ing;n Th_e chronological order on 132. Ryfafeg @ Sl wipar |fean, 19
= nf)_O Civil Procedure Code, 1908- o ﬂ(-. _'.__.l‘ &l qlarEl Hisndl Hiedl !:f,-:’, !
(1) Institutions of Suits IRTA @ SR GY FHHIER arafen afn

(1) Res Judicata (1) arat &1 SRerd fdar S

(IN) Legal representative {1 ﬂ:q T

(IV) Arrest and detention ) fafere ufafafs

Select the correct answer - (V) Froams e e

Code - TE] I ﬂ—fﬁm

(@ 1,0, na&v (B) 1,11, 111 & IV He —
‘ (€) w o, 1& v (d) 11,1, 0 &1V @ 1,1, 1 3 v (b) 1, 11, 111 3R IV
b (e) 1, 1, 13RIV (@) 1,1, m3AR WV

133. Who has the authority to fix scales of monthly-,  133. fif Ffmi & Siew Fafe  fow <2 e

allowances payable for subsistence of judgmeft- 7 31 7 PR o & AfeR [Ea b T
debtor? o -
_ 27
i ; ™~ )
B e ammmen O i
IER U & () Rren =murers  (d) S AEwCHE

134. Match list-1 with list-Il and select the correct 134. el cals el 3 g Sifere @ giuai

answer using the code given below the lists —

& A9 Ry U HE ¥ " I B T -

List—l

(1) Section 11 CPC ; ]E‘;ﬂ—-llw Lpliial
2) Section 26 CPC g (1 1 |
EB; Section 33 CPC P~ (2) T 26 fifaer fEwan e

5 o (31am33ﬁrﬁamm
(4) Section 35 BCPC :;a 4y IT 3518 e ol

List=il ‘\"Eh""
_(A} Institution of Suits A a7 7 GRerd s
(B) Res judicata (B)W /T
(C) Costs for causing delay (o) faerea &R e B g T
(D) Judgment and Decree il-fj (p) ot afie fea!
o ﬁ (ai}a l;l 3, (B)-4, (C)-1, (D)2
_ _ : 2 (A13, (814, ()1, (D)-
(DAL, B2, S ([,;)); e (b) (A)-2, (B-1, (C)-4, (D)3
Lellige (B-H’ G 1 o (©) (A)-4, (B)-3,(C)-2, (D)2
(c) (A)-4, (B)3, ({czi ?;L (@ (A1, (812, (C)3, D4
(d) (A)-1, (8)-2, (C)-> _ , Y G 51 32
135. Wtiich of the following is not correctly matched? e :;;{W i ?g gAferd
(@) Leviathan — Hobbes s w"'{fa”ﬁﬁ”'“ ¥ e
 (b) Law, Liberty and Morality — Fuller _ ; ﬁl%uia_étm e

| L W Law L, Roscoe POUNd (c) W wﬂ Q.L m

;"i?ééiai:'é:ﬁntgal through .
social motion ~ lhering




. . 30. I el fEql
136. provision regarding adjudication o i I i (Ao LS R i
B4
Objection to attached property i (a) Y 21 [+
£ s . cq |
) Tl y 3 s 51 - =TTH 52 )
(a) Order 21 Rule 58 (i (b) 39l 2 1 1+ s

(b) Order 21 Rule 59 CP(
(e¢) Order 21 Rule 57 CP(
(d) None of the above

(c) anedl 21 it ;!
y g Bl e

(d) S 5
1 W ot

137. o1d T?i?\‘lli G R gid
qof 71 &l

137. When consideration and object of an agreement s y g AT IEE
B\

partly unlawful under Indian Contract Act, 1872,

the agreement is § PR El

(@) Void (@) A

(b) Voidable (b) SR .
(c) Partially void and partially voidable () arerd: LY 3]““},{?] r!i i
(d) None of the above (d) SuREd H A Big el

138. “fpd AR & fpsl srerl .
fraqy e & fob G HETI
3 gy W § g8 g @ 1ot 1
b & 3TN & |
he is a dacoit.” <dd & U8 W e

This illustration is based on which Section of the

138. “A Barrister is instructed by an Attorney or Vakil
that an important witness is a dacoit. This is 3
reasonable ground for asking the witness whether

5
Indian Evidence Act? g amenRe 2 i
(@) Section 153 (b) Section 147 (a) gRT153 . E :
(c) Section 145 (d) Section 149 (c) IR 145 (d) €T 149

139. Match list-1 with list-ll and select the correct ~ 139. Rei—| I A1l I gHferd f‘-‘[hmz i
? J1 & T §g BT YA PG gL WE
IR gAY -

answer using the code given below the lists —

List—1 A
(A) Principal deposits his goods with an agent (A)i:nfé?ﬁ 319=T Hiel Uh fWHal & gty W=
(B) Buyer purchases books from the shopkeeper BT B
(C) Owner wearing his watch (B) T THMER 9 3»&14{ wEiedl &
(D) Author’s copyright in his work (C) Pl IRT gl gg‘ el
List-Il (D) *IE® BT T Yerdh U¥ yfaiferairan
(1) Immediate Possession T-IjT—n
(2) Mediate Possession (1) Srafed wean
(3) Incorporeal Possession (2) Taf2d Feaqr
(4) Corporeal Possession (3)3"1?‘ hea]
Code - (4) 7t ooy
(@) (A)-2, (B)-1,(C)-4, (D)-3 9=
(b) (A)-2, (B)-4, (C)-3, (D)-1 @) (A)-2, (B)-1, (C)-4, (D)-3
(© (A1, (B)-2, (C)-4, (D)3 () (A)-2, (8)-4, ()-3, (D)-1
(@) (A)2, (B)-1, (C)-3, (D)4 () (A1, (8)-2, (C)-4, (D)-3

(d) (A)-2, (B)-1, (0)-
140. Which Section of Cr.P.C. has provision for 140.-@@ (6) ‘.(C) 3, (D)-4

cancellation of warrants? Wsnaimz}}m B BN gRT dRe @
(a) Section 69 (b) Section 70 ' BIC IS G

(c) Section 71 (d) None of the above

6cri3iz Page3aofdo
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441, The official language of Inte
justice is -
(a) French and English  (b) English <
(c) English and Russian and Chines

Mmational Coyrt .

! (d) English ang Geriman
142. Where lies the procedure under Criminal p ar
} al Procedyre
Code, 1973, when corporation or regist edure
is an accused? ered society

(a) Section 305 (b) Section 304

(e) Section 319 (d) Section 306

143. Which of the following Section i the Code of Civil
Procedure, 1908 deals with settlement of di ivi
outside the court? Sputes
(a) Section 91

(¢) Section 89

(b) Section 90
(d) Section 88

144. pssertion (A): Agreements enforceable by law are
contracts.
Reason (R): Agreements not enforceable by law are
void.

select the correct answer using the code given

below —

Code -

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) (A) is true but (R) is false

() (A)is false but (R) is true

(d) Both (A) and (R) are true but (R) is not correct
explanation of (A)

145. Match list-1 with list=ll and select the correct
answer using code given below the lists =

List=| List=Il
A.120A 1. Sedition
B. 1243\ 2. Voyeurism
C.295A 3. Criminal conspiracy
D.354C 4. Deliberate and Malicious Acts
y | intended to outrage rellg_lous'
feelings or any class by insulting

religious pelief or religion.

141 RIS =T @ BT
(@) ww afw afish (b) 31
(e) aren afe 9 (d)
192. aowrferes ufsean wifen, 1973 H 199

goltpe afRfay & afgaia $1 gfsear @@l
(a) gRT 305
(¢) amT 319
Srarlt wfsar wfRan, 1908 @ = H 6 @
& O RTeE @ ] faEEl @ e |

rafid 87

(b) €137 304
(d) &TT 306

143.

(a) =T 91 (b) €T 90
(c) T 89 (d) U 88
144, gfyer (A): fIf g1 vad-a S HieT 8

BR (R): fIfY g smadEE BN g B

ﬁﬁﬁ@qﬂ@ﬂﬁmﬁgﬁvﬁ,

a;,:\_('_"_

(@ (ol () 2 W F SR (), () B FE
AT HYAT E

(b) (A) T & fobeg (R)TTIC ©

(©) (A) T & feg (AT E

(@) (AR (R) ST W E (R), (A) B! &
e e PRl #

145. ‘lm‘f@—uf{gﬁ%ﬂaﬁquﬁm
& 49 Ry T Ge ¥ €8 IR @ g -
- -l
A. 120A 1. XST&TE
B. 124A 2. GERfa@El
C. 295A 3, ORI §SUA
D. 354C s, e wd gl @ o
el @t @ i fawarsl
g BT AU DY SED
efifep HTaATeN B JATET DI

%=

@) (A)-4, (8)-3,(C)-2, (D)1
(b) (A)-3, (B)-1, (C)-4, (D)2
© (A)-1, (B)-2,(C)3, (D)4
(d) (A2, (B)-4, (€)1, (D)3

I

(WA



(A) Hostile witnes
(B) Dying Declaration
(C) Refreshing Memory
(D) Leading Questions
List=ll
(1) Section 159 Indian Evidence Act
(2) Section 32(1) Indian Evidence Act
(3) Section 154 Indian Evidence Act
(4) Section 141 Indian Evidence Act
Code -
(8) A-3,B-2,C-1,04  (b) A-1,B-2, C-3, D-4
(€) A-2,B-3,C-1,D-4  (d) A-4,B-2,C-1,D-3

answer using the code given below the lists —

List- List=II
(A) Sale (1) Section 21
(B) Marshalling (2) Section 122
(C) Gift (3) Section 54
(D) Contingent interest  (4) Section 81
Code -

() A-4,B3,C2,D-1  (b) A-3,B-4,C-2, D-1
(€) A-1,B2,C3,04 (d) A1, B-4, C-3, D-2

148. Match list-1 with list-Il and select the correct
answer using the code given below the lists —
List—|
(A) Distribution of Legislative power
(B) Organisation of Village Panchayats
(C) Extent of executive power of the Union
(D) Parliamentary privileges
List-11
(1) Article 40
(2) Article 73
(3) Article 245-255
(4) Article 105
Code -
(@) (A)3, (B)-1, (C)-2, (D)-4
(b) (A)-4, (B)-1, (C)-2, (D)-3
(©) (A)-3, (B)-4, (C)-2, (D)-1

(d) (A)-1, (B)-2, (C)-3, (D)4

[16-C]-134102

147. Match list—I with list=ll and select the correct
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(B) ’;!‘-F_f,li-i-."l'i:'
() Wqfar aroll @

(D) @ H
(1) &RT 1.5'-,“-"'?[«:'1'.'!;._ e
(2) &I 32(1) 3”‘:3.r-l!.
(3) EIRT 154'1'11%.--1\1»1 || i
(4) G 141 HRAT HEA ST
e — b
(;i A-3,B-2,C-1,D04 (D)
(¢) A-2,B-3,C-1,D-4 \{ff} A J
147. Q-]\T:ﬂ—lﬂ'f\l _\’I\'_fﬁ—ll 4 \T_ii-'[f'(?[‘_f HY o
fiC I ST &l gl el SN bl TI+

G- -

W&

_l::l_l.i_.

(A) R (1) TIRT 21

(8) 59T T (2) &TRT 122
(©) T (3) &IRT 54

D EkIECRES] (4) ETRT 81

-

(@) A-4,B-3,C-2,D-1 (b) A-3, B-4, C-2, D-1
(¢) A-1,B-2,C-3,0-4  (d) A-1,B-4,C-3,D-2
148. -1 & i 31 gafera &Y aur g @
R T oe @ wEmar ¥ 6 9w F a0
H —
G-I
(A) FETt wifdber <t fanrors
(B) UTH Y= &7 715
(€S8 2 BRivfT e a7 fawar
(D) G faoer
-1
(1) sr7=g 40
(2) 3g=sT 73

he —

(a) (A)-3, (B)-1, (€)-2, (D)-4
®) (a)4, (g)-1, (©)-2, (D)-3
(©) (a)3,( B)-4, (C)-2, (D)1
(d) (A)-l, {B)"Z, (c)_s’ (D)-4

AT

_



149. The ©
which Jurist?
(a) Roscoe Pound (b) Duguit
(c) Ehrlich (d) hering

150. Under section 2(C) of Indian Contract
'promisee’ is the -
(a) Person who makes the promise.
(b) Person to whom the proposal is made.

(c) Person who accepts the proposal.

(d) Person who makes the proposal.

oncepl of 'Living Law’ was expound
= ngeq |

Act

14

o d) =&t
150. !T.I]\l!“J .I__]-:.‘:](:.. Exfos
A I

(a) =fd W @O &dl & |

(b) =fee Rras fog w¥d T

(c) arfaa Sl wdrd HHierR DAl

(d) afde Y W <l 2|
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